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DTk X 20244 F N E R BUTE AT HER R R HER

pe | marm| e B B | etme | yams | mean |FEEN g
1 101 JE NI 2 HIHESCHUNL 3 111. 00 1 JH =
2 101 FE HIHESCHUNL 3 111. 00 1 pIEBE &
3 101 KB WIS LN 3 110. 00 3 S o
4 101 o] 1B 5 I B SCHUNL 3 108. 00 4 SliEpul &
5 101 i HIHiESCHUNL 3 106. 00 5 JHE =
6 101 5% )R LN 3 104. 50 6 T s
7 101 SRR HIHESCHUTL 3 100. 50 7 L s
8 101 FLAE I HIHESCHUNL 3 100. 00 8 JEE 2
9 101 TR IR LT L 3 99. 50 9 blibul =
10 101 =51 IR LN 3 98. 50 10 L = BEIRN
11 102 (EPSYIE IR T2 3 120. 50 1 JH =
12 102 B HIHESCHm2 3 120. 00 2 plipul =
13 102 ZFEAE IR SN2 3 117. 00 3 L s
14 102 (SR )R SCHT2 3 117. 00 3 L s
15 102 e R IR T2 3 114. 00 5 JHE =
16 102 K )R T2 3 113. 50 6 T s
17 102 XI5 HIHESCEUT2 3 111.00 7 jliiBul s
18 102 FRA HIHESCEUm2 3 111. 00 7 JH 2
19 102 R IR S T2 3 111. 00 7 Siibus =
20 | 201 i TR LB 1 119. 00 1 Slipul &
21 201 LIS I s UM 1 118. 50 2 jliipu &
22 201 e IR E il 1 116. 50 3 pIEBE &
23 | 301 HET IR EEUD 2 92. 50 1 jliipu &

24 | 301 [N W EUTL 2 88. 50 2 jliipu) s
25 301 XI| B CIEAE U 2 81. 00 3 blibul =
26 301 EISERGH W EUTL 2 78. 50 4 T =
27 301 T = W EUTL 2 77. 50 5 jliiBu s
28 | 301 EEd W B 20m1 2 67. 50 6 jliipu &
29 | 302 HIRIR I T2 2 93. 00 1 Sliip0N &
30 | 302 RUE I =BT 2 2 87. 50 2 jliiEu &
31 302 B WP EE T2 2 85. 00 3 blipul =
32 302 K 45 W ECE 2 2 79. 50 4 jlipul &
33 302 S W U2 2 78. 00 5 T =
34 | 302 B — it W2 2 74. 00 6 JliBu s
35 401 kBt b /NEEAE LR 8 112. 50 1 i =
36 401 s NEFETE LN 8 111. 50 2 pEBE &
37 | 401 R NIRRT 8 111.00 3 jliiBul s
38 401 ZE i /NEEAESCHUTL 8 106. 50 4 piBu =
39 401 R NEEAE LR 8 106. 00 5 JHE =
40 | 401 il /4 NIRRT 8 103. 50 6 L &
41 401 2R I NEEAE LR 8 103. 00 7 I =
42 401 F I /NEEAE SCHUTL 8 103. 00 7 pliiB0N &
43 401 ey NEFETE LA 8 102. 50 9 pEBE &
44 | 401 ik 5 I NEEE SR 8 102. 00 10 JliiBu s
45 401 iz INEEAE ST 8 101. 50 11 blibul =
46 401 14 o B NEFETE SN 8 101. 00 12 pEBE &
47 | 401 T NIRRT 8 98. 00 13 jliiBul s




DTk X 20244 /N F R BUTE AT HER IR R H LR

pe | marm| s B MR | e | wns | mesn |RDEN ap
48 | 401 Bgbk | NESCHUTL 8 97. 50 14 i &
49 | 401 F % NS 8 97. .00 15 i i =
50 401 W 3% 5 NEEE LU 8 96. 50 16 i &
51| 401 | 4gh | AEEscEOnL | 8 | 96.00 17 it 2
52 | 401 BMGE | ANESCHUTL 8 95. 00 18 i =
53 | 401 DN | NEESCHUT 8 94. 50 19 LB =
54 | 401 L N ST 8 94. 50 19 i S
55 | 401 DEE | BN 8 94. 00 21 LB Z
56 | 401 BRAESE | NEE U 8 93. 00 22 LB iz
57 | 401 L NEEIESCHUTL 8 92. 00 23 LRV =
58 | 401 s /NEE SR 8 90. 00 24 LB =
59 | 401 MYE | DEE UL 8 90. 00 24 JLEpuN =
60 | 402 G NS T2 8 116. 50 1 i =
61 | 402 SN /NEE S 2 8 114. 00 2 LB =
62 | 402 MEREE | /NESCHUn2 8 114. 00 2 i &
63 | 402 i | ANEE 2 8 112. 50 4 i3 =
64 | 402 EREE | NAECHT2 8 111. 50 5 i S
65 402 R B JNEEYE S H 2 8 111. 50 5 Rk =
66 | 402 | ANEE U2 8 111. 00 7 i =
67 | 402 B /NEEAE SCHUT2 8 110. 00 8 i i =
68 | 402 XU | NAE S U2 8 108. 50 9 JEpUN &
69 | 402 i 3 NS T2 8 108. 00 10 i i =
70 | 402 X | BT 8 108. 00 10 i =
71| 402 S N SCHT2 8 108. 00 10 it &
72 | 402 | HEEEME | NEIESCHUN2 8 107. 50 13 it iz
73| 402 W% INEE ST ET2 8 107. 00 14 i =
74 | 402 XHLL | RS T2 8 107. 00 14 i S
75 | 402 | IDfEE | NEIESCHUN2 8 107. 00 14 LB Z
76 | 402 PABRHE | /NE SCHUT2 8 106. 50 17 JBEE &
77 402 FKkAE A NEEE S T2 8 106. 50 17 i .
78 | 402 | AREHE | NEFESCHUN2 8 106. 00 19 LB Z
79 | 402 FERB | NE T2 8 106. 00 19 i i =
80 | 402 BRAERT | B Sc U2 8 106. 00 19 i =
81 | 402 PR | NECHIT2 8 105. 50 22 i it =
82 | 402 EFZFR | ADiEcH2 8 105. 50 22 i &
83 | 402 B | AhemEscHne 8 105. 50 22 i =
84 | 402 | kiR | ANEAESCHUN2 8 105. 00 25 LI 7z BEIN
35 402 YN INEEE S 2 8 105. 00 25 L & SEIEN
86 | 501 Dl | AEECERUL 3 83. 50 1 JLERUN =
87 | 501 Wi INFERUE T 3 79. 50 2 i =
88 [ 501 PR | NSRRI 3 77.50 3 LB =
89 [ 501 ZERME | AEHEHUTI 3 73.00 4 LB =
90 | 501 BN | AUl 3 68. 50 5 B =
o1 | 501 | FEMK | AEECEHOTL | 3 | 67.00 6 it 2
92 | 501 MR | NEEeEEUn 3 61. 00 7 i &
93 | 501 DEce | R UL 3 61. 00 7 RO =
94 | 502 ERRH | NFEBCRHUT2 3 78. 50 1 L& e
95 | 502 izsis | e Eumn2 3 77.50 2 i &
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96 502 BT E AN T2 3 71. 00 3 JHk =
97 502 NS N2 3 67.50 4 piibus &
98 502 X% INFERCE T2 3 67. 50 4 L s
99 502 S NEEREE T2 3 67. 00 6 plipul =
100 | 502 AEER NIRRT T2 3 66. 50 7 &R %5
101 | 502 EAA INFRCE T2 3 66. 00 8 jliipu) s
102 502 gkAE NEEREE T2 3 65. 00 9 pipu =
103 | 502 JE v NEEREE T2 3 65. 00 9 piBu =
104 | 502 ¥R INFRFE T2 3 63. 50 11 piibus s SEIRIN
105 | 502 A INFRCE T2 3 63. 50 11 pliibul & SEIRAN
106 | 601 X1 B /INEEARE BT 2 97. 50 1 JHE =
107 | 601 iy INFARE U 2 97. 50 1 L s
108 | 601 2P INFARE T 2 87. 50 3 jliiBu s
109 | 601 Wl INEEARE HT 2 82. 50 4 JHIT 2
110 | 601 i HE /NEEARE BT 2 80. 50 5 piiE0N &
111 | 601 (SRR INFAR B HUT 2 78. 50 6 L s




